I
angle3, angle, arc, bar,
H angleA=90, - angleA=-90, angleA=-90, H fraction=0.3
angleB=0 angleB=180, angleB=0,
i ° B ° rad=0 ° armA=30, ° B .
armB=30,
/ rad=0
- [ ] - L] [ ] o - o
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
1 1 I T T T T I I T I I I T
angle3, angle, arc, bar,
H angleA=0, - angleA=-90, angleA=-90, H fraction=-0.3
angleB=90 angleB=180, angleB=0,
i ° B ° rad=>5 ° armA=30, ° B .
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/ rad=5
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angle, arc, bar,
= L angleA=-90, angleA=-90, H angle=180,
angleB=10, angleB=0, fraction=-0.2
| | . rad=0 ° armA=0, ° K
armB=40,
rad=0




